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�5>>F>DO5 =4GG=O5 6>?D>EO <<5NF F4>GN 4?<F5?L=GN < >E-
F46<6LGN F4>>= 7?G5>><= E?54 6 >G?LFGD5 <EF>D<N, GF> E4<4 >=4 
EF4=>6<FEO 646=5=L<< >5N5>F>< <EE?54>64=<O, 6=5 746<E<<>EF< >F 
E>6D5<5==>EF< <?< E>76GG=>EF< =4L5<G 6D5<5=< F5E <?< <=OE 55 
EFD4=<F. �E?< <O 6OEFG?45< ?D>F<6 F>7>, GF> %. �. '5D=>6 =47O64? 
«?>FD55<F5?LE><< >F=>L5=<5< > <EF>G=<>G», 5EF5EF65==> ?>?474FL, 
GF> 646=4 =5 F>?L>> >D<F<>4 F5>EF4, => < <EF>D<O MF>= >D<F<><. � 
F5<4<, <<5NM<< F4>GN 4?<F5?L=GN <EF>D<N <EE?54>64=<O, E?>D>6, 
E><=5=<= < >74D5=<=, >F=>E<FEO <EF>D<O =>67>D>4E>>7> ?5F>?<E4-
=<O. 

�4=4 <7 GFD4G5==OE EFD4=<F 57> <EF>D<>7D4D<< – F6>DG5EF6> 
�<>>?4O $54>D>6<G4 �46D>64, >>F>D><G G65 5O?4 ?>E6OM5=4 >4=4 
<7 =4L<E EF4F5=1. &>744 5O?< <7GG5=O 74<5F>< �. $. �46D>64 ?> 
?>6>4G >=<7< �. �. ,4E<4F>64 «$47OE>4=<O > 4D56=5=L<E DGEE><E 
?5F>?<E=OE E6>44E», E>ED4=<6L<5EO 6 D>=45 �. $. �46D>64 6 �D-
E<65 %�5�� $�� ($. 269). �> 6 4DE<65 �. $. �46D>64 EGM5EF6GNF 
< ?>47>F>6<F5?L=O5 <4F5D<4?O > 57> E>5EF65==>= 5>?LL>= >=<75 ?> 
<EF>D<< ?5F>?<E4=<O, ?>7<5L5= 6<5EF5 E 46F>D>< 6 ?5D6GN 5?>>44-
=GN 7<<G. �>MF><G 5O?4 >EGM5EF6?5=4 ?>?OF>4 D5>>=EFDG<D>64FL 
>E=>6=O5 ?>?>65=<O MF>7> FDG44. $57G?LF4FO ?><5M5=O 6 <>=>-
7D4D<< > L>>?4E 6 <EE?54>64=<< ?5F>?<E5=2. �4L4 7444G4 E5=G4E – 
>D4F>> <7?>6<FL < EG<<<D>64FL >E=>6=O5 =45?N45=<O < 6O6>4O 
�. $. �46D>64, >4E4NM<5EO =>67>D>4E><E ?5F>?<E5=, =5 ?D<6>4O 6 
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?>4F65D645=<5 65EL >5L<D=O= E>5D4==O= << <4F5D<4? < >FEO?4O 
74 =<< > =4L5= G?><O=GF>= 6OL5 <>=>7D4D<<. 

� D>=45 %�$ �$�� E>ED4=<?4EL >D4F>4O 4==>F4F<O > ??4=>-
6>= >=<75 > ?5F>?<EOE, E45?4==4O DG>>= �46D>64: «&5<4 ?D54EF46-
?O5FEO 65?4F5?L=>= 66<4G F>7>, GF> ?5F>?<E4=<5 XVI 6. 6 =4GG=>= 
?<F5D4FGD5 ?>GF< =5 >E65M5=>; ?>E?54=<5 FDG4O ,4E<4F>64 < �D<-
E5?>>64 >5DO64NFEO =4 XV 6.»3. �46D>6 4>?65= 5O? 6=5 ??4=4 =4?<-
E4FL 15 46F. ?. <>=>7D4D<<, => 6>>5M5 >5N5< MF>= D45>FO =4 7>4 >?-
D545?O?EO 6 746<E<<>EF< >F 6O?>?=5=<O ??4=>6OE 7444=<= 46F>D4 6 
����. %D47G 6>7=<>45F =5E>>?L>> 6>?D>E>6. �>G5<G ED>> =4?<-
E4=<O F4>>7>, EG4O G65 ?> =4764=<N, <>=G<5=F4?L=>7> <EE?54>64-
=<O 5O? EF>?L >>D>F><<? �4 ?5D6O= 7>4 D45>FO (1940) �. $. �46D>6 
4>?65= 5O? =4?<E4FL 465 FD5F< D45>FO, < ?<LL >>>=G4=<5 55 ?5D5-
=>E<?>EL =4 1941 7. �> 5E?< ED46=<FL MF> E> ED>>4<<, >>F>DO5 4464-
?<EL =4 4DG7<5 D45>FO ?> ?5F>?<E4=<N, =4?D<<5D 57> >>??575 
�. �. %5D5<=>=, F> 6<4=>, GF> 4DG7<< F4>65 4464?>EL <4?> 6D5<5=<. 
�D><5 F>7>, >E=>6=O< =4?D46?5=<5< D45>FO ���� 6 F> 6D5<O EG<-
F4?>EL <744=<5 ?4<OF=<>>6. �D54?>?474?>EL, GF> <EE?54>64=<5 ?5-
F>?<E4=<O 5G45F ?<LL 4>546?5=<5< > <744=<N ?5F>?<E5=, ?D4644 
>G5=L 646=O< 4>546?5=<5<, >F?<G4NM<< =>6O= F<? <744=<O >F 
EF4D>7> �%$� 4. �> 5EFL, >4> ?D54EF46?O5FEO, < 5M5 >4=4 ?D<G<=4. 
�4> 6<4=> =4 ?D<<5D5 �. �. �D<E5?>>64, 6 ??4= G4EF> EF46<?<EL 
D45>FO, D4>F<G5E>< G65 6O?>?=5==O5 <?< 6O?>?=O6L<5EO 6 F5G5-
=<5 ?D54O4GM<E ?5F. �4< <765EF=>, GF> �46D>6 D45>F4? =44 ?5F>?<-
EO<< 4>?7<5 7>4O. �= 6>E?D<=<<4?EO >>??574<< ?D5645 6E57> >4> 
E?5F<4?<EF 6 >5?4EF< =>67>D>4E>>7> ?5F>?<E4=<O, ?>F><G GF>, 5G-
4GG< 4>F<6=O< GG4EF=<>>< ?>47>F>6>< 4>445<<G5E>>7> <744=<O 
$GEE>>= �D464O, 74=<<4?EO =>67>D>4E><<< ?5F>?<EO<<, 6 E>EF465 
>>F>DOE E>ED4=<?<EL <=>7<5 55 E?<E><. 

�DG7>= 6>?D>E E6O74= E E>45D64=<5< >=<7<. � 6 747?46<<, < 6 
4==>F4F<< >=4 >?D545?5=4 >4> >=<74 > ?5F>?<EOE XVI 6. �> ?>47>-
F>6<F5?L=O5 <4F5D<4?O, ED4=OM<5EO 6 D. 269 �DE<64 %�5�� $��, 
?>>47O64NF, GF> =4 E4<>< 45?5 MF> 5O?4 5O >=<74 > DGEE>>< ?5F>-
?<E4=<< 6>>5M5, F4>4O 65, >4> >GDE ?5>F<= �. �. �D<E5?>>64 < ?>-
E<5DF=> >?G5?<>>64==4O >=<74 �. �. �4E>=>64. �5EL<4 65D>OF=>, 
GF> �. $. �46D>6 4G<4? =4?<E4FL E=4G4?4 >=<7G > ?5F>?<E4=<< 
XVI 6., 4 74F5< > ?5F>?<E4=<< 5>?55 D4==57> 6D5<5=<. 

� D>=45 269 E>ED4=<?<EL F5FD44< E <4F5D<4?4<< E?<G5=<O ?5-
F>?<E5= < >><<5=F4D<O<< > =<<, E45?4==O<< DG>>= �. $. �46D>64: 

                                                                 
3 %�$ �$��. $. 133. 7 1617. �. 29, 62; 7 1618. �. 2. 
4 %<.: �>6<=4-�5554564 �. �. �. $. �46D>6, �. �. �4E>=>6, �. �. �D<E5?>>6 < 

7DG??4 ?> <744=<N DGEE><E ?5F>?<E5= 1936 7. // �5F>?<E< < ED>=<><. �>6O5 <EE?5-
4>64=<O. %�5., 2008. %. 290–308. 



 406

7 7 (12) – ?>EF4F5==>5 E?<G5=<5 F5>EF>6 4> 1218 7., 7 7 (13) – F> 65 
74 1220–1296 77., 7 7 (14) – 74 1305–1419 77., 7 7 (21) – E 1380 ?> 
1392 7., 7 7 (15) – 74 1419–1506 77. �7OFO5 6<5EF5, <4F5D<4?O MF< 
?D54EF46?ONF E>5>= ?>EF4F5==GN D>E?<EL =>67>D>4E><E, N6=>DGE-
E><E < >5M5DGEE><E ?5F>?<E5= XV–XVI 66. 

�F?<G<F5?L=>= >E>55==>EFLN D45>FO �. $. �46D>64 5O?> F>, 
GF> >= ED46=<64? >F45?L=O5 ?5F>?<E=O5 <765EF<O ?5D6>=4G4?L=> 
6=5 E6O7< E >5M<< ?D54EF46?5=<5< > E>>F=>L5=<< F5>EF>6. � F5FD4-
4OE �46D>64 6<4=O E?54O >D>?>F?<6>= <, ?>-6<4<<><G, 4?<F5?L=>= 
D45>FO. �46D>6 D475<? F5>EF ?> <765EF<O< < 4=4?<7<D>64? >464>5, 
=4E>4O F5 <5EF4, 745 D4EE>4<?<EL GF5=<O D47=OE ?5F>?<E5=. �D5645 
6E57> D4EE<4FD<64?<EL D4EE>645=<O <564G GF5=<O<< �46D5=FL56-
E>>=, $447<6<??>6E>>=, �>E>>6E>>-�>445<<G5E>>=, �?4FL56E>>=, 
�>67>D>4E>>= 1, �>67>D>4E>>= 4, %<<5>=>6E>>=, %>D<=E>>= 1, �D-
<>?<=E>>=, �L6>6E>>=, �>67>D>4E>>= 5, �>E>D5E5=E>>=, �<>>=>6-
E>>= ?5F>?<E5= < $>7>6E>>7> ?5F>?<EF4. 

 �E?< 5O >F FDG4>6 �. �. ,4E<4F>64 >EF4?EO ?<LL ?>47>F>6<-
F5?L=O= <4F5D<4? E?<G5=<O ?5F>?<E=OE F5>EF>6 (4 >= G4EF<G=> E>-
ED4=<?EO 6 E>EF465 D>=44 �. �. ,4E<4F>64 6 %�$ �$��), 5O?> 5O, 
=465D=>5, >G5=L FDG4=>, 4465 =56>7<>6=> 6>EEF4=>6<FL 57> 677?O4O 
=4 ?5F>?<E4=<5. %>4 <OE?< �. �. ,4E<4F>64 5O? E?>65=, >= =<>>-
744 ?DO<> =5 <EE>4<? <7 =45?N45=<=, E45?4==OE ?GF5< ED46=5=<O 
>F45?L=OE ?5F>?<E=OE F5>EF>6. '65 ?>MF><G F5>EFO MF< 6>E?D<=<-
<4?<EL << ?<LL >4> G4EFL EFD><F5?L=OE <4F5D<4?>6 4?O 7<?>F57O, 
=> MF< G4EF< 6E5744 4>?6=O 5O?< 5OFL E>D5??5=O «F5<5=F><» D5-
>>=EFDG>F<=, <=4G5 >=< D4EEO?4?<EL. 

� ?D>F<6>?>?>6=>EFL MF><G <EF>D<>< ??4F>=>6E>>-?D5E=O-
>>6E>>= L>>?O, > >>F>D>= ?D<=44?564? �. $. �46D>6, 6E5744 EF>O?< 
5?<65 > D54?L=O< ?5F>?<E=O< ?4<OF=<>4< < D45>FG ?> ED46=5=<N 
F5>EF>6 ?>=<<4?< >4> ?DO<>= ?GFL > 6O6>44<. �>MF><G <<5NFEO 
>E=>64=<O ?D54?>?474FL, GF> 6 ?>47>F>6<F5?L=OE <4F5D<4?4E 
�. $. �46D>64 E>45D64FEO >4><5-F> DD47<5=FO, 6>7<>6=> 6>L54L<5 
6 >=<7G. �> 6EO>>< E?GG45 ?> =<< <>6=> 6>EEF4=>6<FL E>4 57> <OE-
?5=. 

�5D64O F5FD44L5 74>?NG45F 6 E555 <4F5D<4? ED46=5=<O 4D56-
=5=L<E <765EF<=. % ?. 8 E?54G5F >E>55==> 45F4?L=O= 4=4?<7 D4EE>4-
74 > ?D<764=<< 64DO7>6, >>F>D><G �46D>6, >4> < ,4E<4F>6, ?D<44-
64? 5>?LL>5 7=4G5=<5. � 6 D4EEG645=<OE ?> ?>6>4G MF>7> D4EE>474 
,4E<4F>6, >4> 6<4=>, 5E?< >5D4F<FLEO > 57> «$47OE>4=<O<…», <E-
?>?L7>64? E6>< <OE?< > ?5D6>=4G4?L=>< F5>EF5 < 57> =4??4EF>64-
=<OE, > 6?<O=<< =4 ?5F>?<EF4 57> <=>7>G<E?5==OE <EF>G=<>>6, > 
57> EFD5<?5=<< F5<, 4 =5 <=O< >5D47>< <7>5D47<FL D>?L 64DO7>6 < 

                                                                 
5 �DE<6 %�5�� $��. $. 269. �4. ED. 7 (12, F5FD.1). 
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F>, GF> 5EFL $GEL. ' �46D>64, 6 >F?<G<5 >F ,4E<4F>64, <O 6<4<< 
=4EF>OM<= D>D<4?L=O= 4=4?<7 D47=>GF5=<=, 557 M?5<5=F>6 D5>>=-
EFDG>F<<, => < 557 ?D<<5E< «<45>?>7<<». 

�<4=>, GF> <OE?L �. �. ,4E<4F>64 > ?5D6<G=>EF< �>67>D>4-
E>>= 1 ?5F>?<E< (44?55 – �1) ?> ED46=5=<N E �>65EFLN 6D5<5==OE 
?5F (44?55 – ���) E=4G4?4 >474?4EL �. $. �46D>6G E><=<F5?L=>=, => 
?>F>< 6>7=<>4?4 G =57> ?>EF>O==>, =5746<E<<> >F ,4E<4F>64, 4 
F>?L>> ?<LL =4 >E=>65 E4<>EF>OF5?L=>7> E?<G5=<O F5>EF>6. �> 6>7-
<>6=>EFL ?5D6<G=>EF< ��� ?> ED46=5=<N E �1 ?>?=>EFLN =5 >F-
5D4EO64?4EL. �>7=<>4? < 6>?D>E > F><, >4>4O D544>F<O ��� 6 MF>< 
E?GG45 ?5D6>=4G4?L=4. &4><< >5D47><, �46D>6 4G<4? > 7?46=OE 6>?-
D>E4E <EF>D<< 4D56=5=L57> ?5F>?<E4=<O: > E>>F=>L5=<< ��� E �1 
< > D544>F<OE ���. � >54 >=< 5O?< 4?O =57> =5 F4> OE=O, >4>, =4-
?D<<5D, 4?O �. �. �D<E5?>>64, E?54>646L57> F5?<>>< 74 �. �. ,4E-
<4F>6O<. �465 <>6=> E>474FL, GF> �46D>6 4>?GE>4? 6 >?D545?5=-
=>< E<OE?5 ?D46><5D=>EFL 7<?>F57O �. �. �EFD<=4 (> F5>EF5 �1 
>4> E>>D4M5=<< ���). 

%G4O ?> 74<5G4=<O< =4 ?. 16, �46D>6 ?D<L5? > 6O6>4G, GF> 
�>67>D>4E>4O 5 ?5F>?<EL, >>F>DGN >= D4=55 ?>4>7D564? 6 6>EE>6-
45=<< > 4D56=5=L5= >E=>65, – «?>74=5=L4O >5D45>F>4». �=4G<F, 6 
?D>F5EE5 D45>FO G �46D>64 ?D><EE>4<?4 ?>EF>O==4O >>DD5>F<O ?5D-
6>=4G4?L=OE EE5<. �F<5G4O E>6?445=<5 <?< =5E>6?445=<5 E6><E 
6O6>4>6 E 6O6>44<< �. �. ,4E<4F>64, �46D>6 =5 <5=55, G5< 57>, 
F5=<? <OE?< > ?5F>?<E4=<< E6><E GG<F5?5=-<EF>D<>>6, >E>55==> 
�. �. �D5E=O>>64. � =5>>F>DOE <5EF4E �. $. �46D>6, E>FO < ?D<E>-
4<? > 6O6>44<, E>6?444NM<< E L4E<4F>6E><<<, =4?D<<5D, > 674<<-
=>< 6?<O=<< ><56E>>7> ?5F>?<E4=<O < =>67>D>4E><E ?5F>?<E5=, => 
?>?GG5=O >=< 5O?< E>65DL5==> <=O<, >F?<G=O< >F L4E<4F>6E>>7> 
?GF5<. 

�F>D4O F5FD44L6 ?D54EF46?O5F E>5>= D57G?LF4FO ED46=5=<O 
F5>EF>6 E 989 ?> 1130 7. &5FD44L 7 37 E>45D6<F <4F5D<4? E?<G5=<O 
F5>EF>6 E 1130 ?> 1157/58 7. �<4=>, GF> �. $. �46D>6 ?>EF>O==> 4G-
<4? > 6>7<>6=>EF< 5>?LL5= 4D56=>EF< >5M57> ?D>F>7D4D4 
�>67>D>4E>>= 4 (44?55 – �4) < %>D<=E>>= 1 (44?55 – %1) ?5F>?<E5= 
?> ED46=5=<N E �1, E>FO < =5 GF65D644? MF>7> G65D5==>. 

� E?54GNM<E 46GE F5FD44OE 6EFD5G4NFEO D4EEG645=<O, ?>>4-
7O64NM<5 =5E><=5==GN 5?<7>EFL �. $. �46D>64 > L4E<4F>6E><< 
<5F>44< <EE?54>64=<O ?5F>?<E5=, E>FO < ?D<6>4OM<5 > <=O< 6O6>-
44<. � ,4E<4F>6G �46D>64 ?D<5?<64?> EFD5<?5=<5 G6<45FL 6EF46-
>< 6 ?5F>?<E=O= D4EE>47, E?>E>5=>EFL >5=4DG6<FL <E < <<< >5NOE-
=<FL E6>< =45?N45=<O. �4=4>> �46D>6 =5 ?>?L7>64?EO L4E<4F>6-

                                                                 
6 �DE<6 %�5�� $��. $. 269. �4. ED. 7 (12, F5FD. 2). 
7 &4< 65. (F5FD. 3). 
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E><< ?>=OF<5< �D56=5=L57> =>67>D>4E>>7> E6>44 (>4> < �D56=5=-
L57> ><56E>>7>). �<5EF> MF>7> >= ?<E4? > =>67>D>4E><E «?5D6>=4-
G4?L=OE 74?<EOE». �D><5 F>7>, >= EFD5<<?EO 6 F5>EF5 �1 <?44L5= < 
EF4DL5= D544>F<= =4=F< <5EF4, <4GM<5 >F �4G4?L=>7> E6>44, < F5, 
GF> O6?ONFEO ?D><76>4=O<< >F ���. �564G F5< L4E<4F>6E>4O 
>>=F5?F<O �D56=5=L57> =>67>D>4E>>7> E6>44 5O?4 F>744 6>E?D<=O-
F4 6E5<< GG5=O<<, 6 F>< G<E?5 �. �. �D<E5?>>6O<, 557 >4>>= 5O F> 
=< 5O?> >D<F<>< 

8. �46D>6G >4> <EE?54>64F5?N ?D5E=O>>6E>>-
??4F>=>6E>>7> =4?D46?5=<O MF< 6O6>4O, 65D>OF=>, 6<45?<EL E?<L-
>>< 7<?>F5F<G=O<<. � 7<?>F574E > ?5D6>=4G4?L=OE ?5F>?<E=OE 
F5>EF4E >= =5 L5? 44?55 ?D<7=4=<O �4G4?L=>7> E6>44, >FD465==>7> 
6 �1. 

�> 6>?D>E > =>67>D>4E>>< ?5F>?<E4=<< 6<45?EO �46D>6G, >4> 
< ,4E<4F>6G, E?>6=O<. �5 MF>< 7>6>D<F 74<5G4=<5 =4 ?. 17: 
«…E6>4 1430-E <?< 48 <?< 1423 <>65F D4EEO?4FLEO». �F<5F<< F4>-
65 74<5G4=<5 =4 ?. 20: «&4><< >5D47><, =5F E><=5=<O 6 F><, GF> 
=>6<7>D>4E>4O>4O D54<4>F<O> ��� 5>?55 ?>74=OO, G5< �<46D5=FL-
56E>4O>. �5EL 6>?D>E, >>744 >=4 E>EF46?5=4!» �=4G<F, �46D>6 6E5 65 
E><=564?EO 6 ?D46<?L=>EF< E4<>= E5D4F56<=O L4E<4F>6E><E ?>-
EFD>5=<= – <45OE > E>>F=>L5=<< �1 < ��� < 6 EGM5EF6>64=<< �>6-
7>D>4E>>-%>D<=E>>7> E6>44 E5D54<=O XV 6. (F4> =47O645<>7> «E6>-
44 1448 7.»). 

�. $. �46D>6O< 5O? E>5D4= >5L<D=O= <4F5D<4?. �E?< 7>6>-
D<FL > 6O6>44E, F> 6 ?5D6OE FD5E F5FD44OE >= ?>?GG<? <4F5D<4? 4?O 
>FD<F4=<O �D56=5=L57> =>67>D>4E>>7> E6>44 < 4?O GF65D645=<O, 
GF> ?D>F>7D4D �1 5O? ?>?=55, G5< 4D56=5=L<5 E>ED4=<6L<5EO E?<-
E>< 55 <?44L5= D544>F<< (�><<EE<>==O= < �>445<<G5E><=, 44?55 – 
��). � <<5==> MF>F, 5>?55 ?>?=O= ?D>F>7D4D �1 >FD47<?EO 6 %1 < 
�4. �>MF><G F4< <<5NFEO GF5=<O, >FEGFEF6GNM<5 6 E>ED4=<6L<EEO 
E?<E>4E �1. �D><5 F>7>, �46D>6 6E5 6D5<O 4G<4? > E>>F=>L5=<< 
�46D5=FL56E>>7> < �?4FL56E>>7> E?<E>>6 ��� < > 6>7<>6=>= ?5D-
6<G=>EF< <<5==> ?>E?54=57>. -F< 6O6>4O ?D54EF>O?> ?>4F65D4<FL 
<?< >?D>65D7=GFL ?D< 44?L=5=L5< E?<G5=<<. 

� 44?L=5=L5< 9 5>?LL>5 6=<<4=<5 5O?> G45?5=> 4=4?<7G %<-
=>44?L=>7> E?<E>4 �1 (44?55 – %<=.). � MF>< <5EF5 F5FD445= �46D>-
64 <>6=> =4=F< ?D<<5DO <<>D>E>>?<G5E>>7> 4=4?<74 F5>EF>6. &4>, 
=4 ?. 22 >5. – 23 �. $. �46D>6 ED46=<64? F5>EF %<=. E %1, ��, �4 74 
1199 7.: «� %<=. >>=G45FEO ?5D6O= ?>G5D>, => ?> E>45D64=<N 745EL 
=5F =<>4>>7> ?5D5DO64. �>G5D> >4=>6D5<5==O=10, 7=4G<F, �� – =5-
                                                                 

8 �<LL ?>74=55 >F =55 >F>474?<EL 5>?LL<=EF6> <EE?54>64F5?5=. 
9 �DE<6 %�5�� $��. $. 269. �4. ED. 7 (12, F5FD. 4). 
10 '>474=<5 =4 F>, GF> �. $. �46D>6 D45>F4? 6> 6D5<O <>E>>6E>>= >><4=4<D>6>< 

E DG>>?<ELN %<=. �45EL < 44?55 6E5 ?>4G5D><64=<O ?D<=44?564F E4<><G �. $. �46-
D>6G. 
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>>F>DO5 D54<4>F<>==O5> <7<<5=5=<O>, >>F>DO5, >4=4>>, =5 44NF 
?>6>44 4?O 74>?NG5=<O11. �� ?D>?GE>45F 6 <76<5EF<<> > ?>EFD>=>5 
F5D>6< >=O65=, G?><<=4=<5 «=4 �<E4?<F<». �4 6>EE>4<F > ?D>F>-
7D4DG ?D>F>7D4D4 ��, 6 >>F>D>< «=4 �<E4?<F<» 5O?>, => G65 5O?> 
«<G6<», 4 =5 «?N4<». %?>6><, EE5<4 F4>4O: 

 

 
%E5<4 5?<7>4 > ,4E<4F>6G». 
�>E?54=55 74<5G4=<5 >E>55==> ?D<<5G4F5?L=>. �<4=>, GF> 

�. $. �46D>6 ?>EF>O==> ED46=<64? E55O E �. �. ,4E<4F>6O< < >F-
<5G4? E?GG4< E>6?445=<O <?<, =4>5>D>F, D47?<G<O. �4?55 E?54G5F 
?4EE46, EE>6<= E L4E<4F>6E><<: «�< 6 %<=., =< 6 �� =5F E?>6, 
<<5NM<EEO 6 �4 “E �D>>L5N E �4?OL56<G5<”. -F< E?>64 =5 <4GF > 
?D54O4GM5<G F5>EFG. �=< – >>=5F >4>>7>-F> >?GM5==>7> <765EFLO 
(EE5<4 >5NOE=O5F <E)». 

%?54GNM4O F5FD44L 
12 =5 <<55F >5?>6>< < =><5D4. �47>?>6>>: 

«%?<G5=<<5 ?> 6E5< F5>EF4< 1206–1220». �D>4>?65=<5 ED46=5=<O 
G65 6 F5FD44< 7 6 

13. &5FD44L >747?46?5=4 «%>D<=E><5 ?5F>?<E<, 
E?<G5=L5 <E E =>67>D>4E><<< < <>E>>6E><<< ?5F>?<EO<< E 1305–
1419 77.». &4><< >5D47><, 7=4G<F5?L=4O G4EFL <4F5D<4?>6 ED46=5=<O 
74 1220–1305 77. (?>GF< 74 EF> ?5F) >FEGFEF6G5F. �5F >E=>64=<= 4G-
<4FL, GF> ?> >4><<-F> ?D<G<=4< �. $. �46D>6 =5 ?D>65? E?<G5=<O 
?5F>?<E=OE F5>EF>6 74 MF>F ?5D<>4. %>>D55 =G6=> ?D54?>?474FL, GF> 
MF< <4F5D<4?O GFD4G5=O. 

�5D4M45F =4 E55O 6=<<4=<5, GF> 6 EE5<5 �46D>64 ?>EF>O==> 
D<7GD<DG5F ?5D6>=4G4?L=4O D544>F<O �1 – =45?N45=<5, > >>F>D><G 
>= ?D<L5?, G65 D45>F4O E F5>EF>< «$47OE>4=<=…» �. �. ,4E-
<4F>64

14. �5 MF>< 65 4G<4? 6 E6>5 6D5<O �. �. ,4E<4F>6, => ?> 
                                                                 

11 &4> 6 F5>EF5. 
12 �DE<6 %�5�� $��. $. 269. �4 ED. 7 (13). 
13 &4< 65. (14). 
14 %<.: �>6<=4-�5554564 �. �. �. $. �46D>6 74 GF5=<5< �. �. ,4E<4F>64… 
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4DG7<< ?D<G<=4<. �4 ?. 78–78 >5. ?> ?>6>4G >4=>= <7 E6><E EE5< G 
�46D>64 ?><5G5=>: «&. 5. 6 >E=>6=>= G4EF< EE5<O… MF> ?>GF< ,4E-
<4F(>6E>4O) EE5<4; F5< ?GGL5 (ad majorem gloriam15 EF4D<>=> 
DGE<E>>=> =4G><). �4=4>>: MF> =5 5G45F E6>4 1448 , 4 1423 – 
�>6<7>D>4E><=>. �5M5DGEE<><=> 

E6>4 5G45F 5>?55 D4==<<, 
<<>65F> 5<OFL> 1409 <?< 1412 (&6<5DL>), 4 <<>65F> 5<OFL> 6 
&D<><F5> <?< =5 ?>74=55 <?> 6> 6EO>>< E?GG45 1418 7. (5E?< 6 %1 – 
�4 5EFL D>EF<>6E><5?> <76<5EF<O> ?>E?5 1412 7.), ?<5> 
�>67(>D>4E><=) E6>4 5G45F 5>?55 ?>74=<<, G5< 1423. � >>=5G=<><> 
EG5F5 =5 <E>?NG5=4 6>7<>6=>EFL 6E5–F4><, GF> MF> < 5G45F �4». 

�4 ?. 113 >5., ED46=<64O <765EF<O �1, �4, %1 < %>D<=E>>= 2 
?5F>?<E< (44?55 – %2) 74 6904 7., �46D>6 E>EF46<? E?54GNMGN EF5<-
<G: 

 

         ��16                                    �D>F<>7D4D> 6E5E >EF<4?L=OE>17 

 

                                        %&,  %�            %� < 4D.18 
 

�>4 EF5<<>= 44=> ?>OE=5=<5: «�� 5?<65 > �1, G5< > �4, 
=4?D<<<5D>, EFD. 250 %1, �1 EFD. 381, < �4 F>65 381. �D< MF>< 6 �� 
?5D5EF4=>6>4, =5 =4 E6>5< <5EF5». 

�7 F5FD44< <>6=> G6<45FL =4?D46?5=<5 <OE?< �. $. �46D>64. 
�>-?5D6OE, >= <E>4? =4G4?> <>E>>6E>>7> ?5F>?<E4=<O, < G =57> ?>-
?GG4?>EL, GF> <>E>>6E>>5 ?5F>?<E4=<5 =4G<=4?>EL >4> FD><F>>5. 
&D><F><5 E6>4O >= =4E>4<F >FD465==O<< 6 D47=OE ?5F>?<E=OE 
F5>EF4E. �4?55 ?D>5?5<G E>EF46?O5F 674<<=>5 >F=>L5=<5 MF<E FD>-
<F><E E6>4>6 < 44?L=5=L<E <>E>>6E><E. �>EF>O==>5 6=<<4=<5 G45-
?O?>EL F4>65 E>54<=5=<N <>E>>6E>>7> < D>EF>6E>>7> ?5F>?<E4=<O 6 
?5D6>= ?>?>6<=5 XV 6. �4>>=5F, �46D>6 6E5 6D5<O <5=O? <=5=<5 > 
�>67>D>4E>>-%>D<=E>>< E6>45 < E><=564?EO: EGM5EF6>64? >= <?< 
=5F. �= 65745 L5? 74 <4F5D<4?><, 45?4O 6O6>4O < <5=OO <E =4 E>4G. 
�= ?>GF< =<>>744 =5 ?OF4?EO, >4> 4DG7<5 <EE?54>64F5?< (6 F>< G<E-
?5 L4E<4F>6E>>7> =4?D46?5=<O), «G>D>M4FL» F5>EF ?5F>?<E< ?GF5< 
<=F5D?D5F4F<=. �4>>=5F, <4F5D<4? ?>>47O645F, >4> 6E5-F4>< 
�. $. �46D>6 >F=>E<?EO > F6>DG5EF6G ,4E<4F>64. � F5?>< DO45 E?G-
G456 >= >4> 5O G4<6?O?EO, GF> 57> =45?N45=<O >4> 5G4F> ?>4F65D-
                                                                 

15 «� 6OM5= E?465» – G4EFL ?4F<=E>>7> <7D5G5=<O ad majorem Dei gloriam 
(AMDG) – 75D4?L4<G5E>>7> 456<74 �D45=4 <57G<F>6. 

16 �45EL < 44?55 – E?<E>< %1 EF4DL5= D544>F<< (�4D4<7<=4 < �5>?5=E>>7>). 
17 &. 5. ?D>F>7D4D 6E5E >EF4?L=OE E?<E>>6 %1 <?44L5= D544>F<<. 
18 %&, %�, %� – E?<E>< %1 <?44L5= D544>F<<, E>>F65FEF65==> &>?EF>6E><=, �>-

D>=F>6E><= < �4?L75D>6E><=. 
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644?< 6O6>4O �. �. ,4E<4F>64 (4 6 =5>>F>DOE E?GG4OE – 
�. �. �D<E5?>>64). �46=O =45?N45=<O �. $. �46D>64 < 4?O <EF>D<< 
F5>EF4 %1. -F>F EN65F 5O? 4?O <EE?54>64F5?O >4=<< <7 >E=>6=OE: 
E?<E>< %1, 55 D544>F<<, <E E>>F=>L5=<5, 6D5<O 6>7=<>=>65=<O D47-
=OE 64D<4=F>6 F5>EF4. 

� >4=>= <7 54. ED. 6 D>=45 �. $. �46D>64 >F45?L=> ?D54EF46?5-
=> ED46=5=<5 ?5F>?<E=OE F5>EF>6 74 1380–1392 77. -F< <4F5D<4?O 19 
E>45D64F F5>EF, ?><5M5==O= =4 >5D57>4E ?<EF>6 XIX 6., E?>65==OE 
?>?>?4< (D<?<7D4=< «�5D5 /D>E?46?O», ?<F5DO «���», «FKG»), 
D47D>7=5==4O =G<5D4F<O, >F=>EOM4OEO > ?D54O4GM5<G 4DE<6=><G 
45?G, F5>EF =4=5E5= >4D4=44L><. %>45D64=<5: ED46=5=<5 �1, �5, 
�4, %1 < %2. �?46=GN D>?L <7D45F ED46=5=<5 %1 < �4 < ?><E> <E 
>5M57> <EF>G=<>4: 

 «6888 7. …�1 445F 4>6>?L=> ?>4D>5=O= D4EE>47… 6 �4, �5 
(%D.) < �� E>>D4M5==O=… %1 6F>D>= D54<4>F<<> MF>F F5>EF >?GE-
>45F. �O?<E4FL F5>EFO. �>7<>6=> E>>D4M5=<5 F5>EF4 �4, => 6>7-
<>65= < 4DG7>= <EF>G=<> – %1 6F>D>= D544>F<< – 6>7<>6=>, GF> < 
=5 5O?> MF>7> F5>EF4 6 55 <EF>G=<>5, F>744 �� 6>E?>?=O5F ?> =>6-
7>D<>4E>><G> <EF>G=<>G… �5F4?<: �� < %<=<>44?L=O= E?<E>>>… 
44NF “7>65==>”, F>744 >4> ?D>G<<5 E?<E><> �4 < %D<>=>7D4D<G5E-
>>=> “7>6�5=<5” …; 

6888 7. …6 �%D>=<>7D4D<G5E>>=>20 =5F ?D<?<E>< «4 ?>F>< 
5G45F 74 11 ?5F».21 �=4G<F �%D>=<>7D4D<G5E>4O> (�5) 445F 5>?55 
D4==<= F5>EF, E>EF46?<5==O=> 4> 1448 7. &> 65 E4<>5 6 ?5F>?<E< 
�6D44<><… �1 – MF>7> =5F. $47=O5 <EF>G=<><…; 

1381 7>4… %1 E>>D4M45F F5>EF. �4>>= F5>EF ?5D6>=4G4?L=O= 
�1 <?< �4 – =5?L7O E>474FL. 1382–6890 7. �1 445F >D4F><5 <765EFLO > 
=4L5EF6<< &>EF4<OL4… �4 – E=4G4?4 =>67>D>4E><5 <765EF<O… 
74F5< �>65EFL > &>EF4<OL5, ?>E?5 G57> 4>?<>?=<F5?L=>5> E6O-
74<==>5> <765EFL5 > ?>E?5 E4=4, >4>>7> =5F 6 �1 – 74F5< 6=>6L ?>-
6F>D5=O <765EFLO, D4=55 G65 <7?>65==O5. �%D>=<>7D4D<G5E>4O> 
445F F>?L>> =>67<>D>4E><5> <765EFLO… �4> MF> >5NOE=<FL? �>E>-
65, GF> �%D>=<>7D4D<G5E>4O> ?>74=55 6OG5D><645F ?<L=55? %1 
6>6E5 ?D>?GE>45F =>67>D<>4E><5> <765EFLO – E>45D6<F F>?L>> D4E-
E>47 > &>EF4<OL5; 

1383 7. – (6891). �1 ?<L=55 <765EFL5 “>>?4L4 D>6 >>>?> %>-
D5=E>>= EF>D>=O > EF4D><G 64?G” = �>?55 ?>4D>5=> 6 �4 < �5 <7-
?>65=O <765EF<O > ?>574>5 6 �D4G. �4> 5G4F> D47=O5 <EF>G=<><… 

                                                                 
19 �DE<6 %�5�� $��. $. 269. �4. ED. 7 (21). 
20 �>67>D>4E>4O %D>=>7D4D<G5E>4O (�5) ?5F>?<EL. 
21 � D4EG5F5 E>6?445=<= �4EE< < �?47>65M5=<O. �?O ,4E<4F>64 MF>F >FDO6>> 

5O? >?D545?ONM<< ?D< 44F<D>6>5 %6>44 1448 7. 
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%& 22 445F =>6O5 <765EFLO > �<?D<4=5. �765EFLO > ?>574>5 6 �D4G 
6 >F?<G=OE >F �4 D544>F<OE. 

1385 7>4. %1 E G?><<<=4=<5<> 5>OD (=> 557 EEO?>< =4 4DE<-
5?<E>>?4) > ?>EFD>=>5 7>D>44 =4 /<5. (%65FE>4O ?5F>?<EL!) �1 6?4-
4OG=4O ?5F>?<EL... �%D>=. 445F >F?<G=O= >F 4DG7<E E?<<E>>6> 
F5>EF. �5E><=5==> 2 <EF>G=<>4: >4<= E65FE><= (65G56>=). %1 445F 
<765EF<O F>?L>> > E<5DF< �<<FD<<O>. �� 4>546?O5F <765EF<5 > ?>-
EFD>=>5 7>D>44 =4 /<5 6 D54<4>F<<>, 5?<7>>= > �1. %&23 445F 
4>?>?=<F<5?L=O5> EG74<4?LE><5> <765EF<O; 

1386 7. …�1 < �5 44NF EE>4=O= >>D>F><= F5>EF... �4 445F <7-
65EFL5 >5 �D5E>6F5 E 4>?>?=5=<O<<. �4F5< ?>4D>5=O= D4EE>47 > 
?D<E>45 ?>4 �>67>D>4 �<<FD<O �64=>6<G4 �>E>>6<E>>7>>… 
&5>EF %1 (5>?LL<<=EF6>> E?<<E>>6>) EE>45= E �4. �>?GG45FEO 
6?5G4F?5=<5 5>?LL5= ?5D6>=4G4?L=>EF< F5>F4 �4. �1 E>>D4M45F 
F5>EF, 6O45?OO D>?L 4DE<5?<E>>?4. �E?< F4>, =44> 5>D>FLEO 74 4D56-
=NN G4EFL. �> 464 <EF>G=<>4?! 

1387 7. � E<5DF< �<<<FD<O> �>=<E>>7>) ?D>?GE>!!! �4> 6 
�>E>>6E><E? �1 < �5 44NF EE>4=O= F5>EF – 6 �1 ?<LL 
4>5<46?5=>> “>=O7O 65?<>>7>”. �4> MF> E 44F4<< E<5DF<? &GF >4>4O 
D47=<F4: < F>, < F> <>65F 5OFL D4=LL5. �4 445F DO4 O6=OE 4G5?5-
F>6. �4=<< <EF>G=<>>< O6?O5FEO �1. �>?<>?=<F5?L=O5> <765EFLO 6 
�4 > =5<5F><E ?>E?4E. &5>EF %1 EE>45= E �4, ?D<G5< �� 4>546?O5F 
=54>EF4NM<5 <765EFLO…  

�5M55 6?5G<4F?5=<5>: �4 E>EF46?5=4 ?>E?5 �1, ?D<G5< 55 <E-
F>G=<<>4<<> 5O?<: 1) %1 (>D><5 ��) 2) �1 < 3) 4D<56=<=> 
=>67<>D>4E><=> <EF>G=<>. 

1388 7. �5 445F F5>EF ?> �1. � �4 – F5>EF… 445F 5>?55 
?D>EFD<4==O=>. �>546?O5F > ?>EF46?5=<< F5D>6< =4 &>D7G… %1 =5 
445F =>6OE <765EF<= < >G5=L E>>D4M5==> ?5D5445F <765EF<O – 6?5-
G4F?5=<5, %1 D5L<F5?L=> E>>D4M45F F5>EF <, E?54>64F5?L=>, ?>74-
=55 �4. �>4<5G4FL ?<L=<5 <765EFLO 6 %1; 

1389 7. … (,4E<4F>6 =5 ?D46. �5 5O?> E6>44 1448 7., 745 E?<-
?<EL 6E5 D5>< DGEE>>7> ?5F>?<E4=<O, =5 5O?> < �?44<<<<DE>>7>> 
�>?<ED<>=4> 1423 7. – 4 D47=O5 <EF>G=<>< <>E>>6E><5 < 464 =>6-
7>D>4<E><E>; 

1390 7. %?>6=O= F5>EF. �1 445F F5>EF >>D>F><=, G5F><=, <7 
=>67>D>4E><E <765EF<= – �5 445F F>F 65 F5>EF, �4 445F <5E4=<G5-
E>>5 E>54<=5=<5 F5>EF4 �1 E E>D<=E><<< (%&)… >FG5F?<6> 6<4=> 

                                                                 
22 %?<E>> &4DE>>7> %1. 
23 ' �. $. �46D>64 6 MF>< <5EF5 EF><F «%II &». �G56<4=>, MF> <5E4=<G5E>4O 

>L<5>4. $5GL <>65F <4F< F>?L>> > %1 ?> E?<E>G &4DE>>7>. �>MF><G 4>?6=> 5O?> 
5OFL <?< «%&», <?< «%2 < %&». 
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E>54<=5=<<5> 46GE <EF>G=<>>6 6 �4 – <>E><>6E>>7>> < =>67<>D>4-
E>>7>>. 

1391 7. �4 MF>F D4EE>47 �4 445F E>D>L<=, G5F><=, ?>E?54>64-
F5?L=O= F5>EF =>67>D>4E><=, => ?> 4DG7><G <EF>G=<>G, G5< �1 < 
�5 (6>7<>6=>, ?5D545?>4, 5?<7>4O ?> 6D5<5=<)». 

-F< 74<5F>< �. $. �46D>64 44NF 5>?55 >FG5F?<6>5 ?D54EF46-
?5=<5 > F><, >4> >= 6<45? <EF>D<N =>67>D>4E>>7> ?5F>?<E4=<O 
XV 6. �>-?5D6OE, >= >F65D7 E6>4 1448 7., «…745 E?<?<EL 6E5 D5>< 
DGEE>>7> ?5F>?<E4=<O»,24 4 F4>65 �>?<ED>= 1423 7. (�>?<ED>= $>-
F<O ?> ,4E<4F>6G). � <EE?54G5<OE ?5F>?<EOE >= G6<45? ?D>EF>5 
E>54<=5=<5 <EF>G=<>>6: <>E>>6E><E < 46GE =>67>D>4E><E. �5 MF><, 
?> <=5=<N �. $. �46D>64, 7>6>DOF 4G5?5FO, >>F>DO< �. $. �46D>6 
?D<4464? 5>?LL>5 7=4G5=<5. &>, GF> <EF>G=<>>6 <<5==> 464, ?>-
6F>DO5FEO =5E>>?L>> D47: <>E>>6E><= < =>67>D>4E><= <EF>G=<>< 
E>54<=5=O 6 �4 (%& + �1) + 4D56=<= =>67>D>4E><= <EF>G=<>. � 
<OE?< >5 MF>< 4D56=5< <EF>G=<>5 �. $. �46D>6 6>76D4M4?EO < 6 
4DG7<E <5EF4E. �> 5E?< %& (<?< 55 ?D>F>7D4D) – >4<= <7 <EF>G=<-
>>6 �4, F> %1 E4<4 E>EF46?5=4 >4> E>>D4M5=<5 �4. 

� =5>>F>DOE E?GG4OE, ?> �46D>6G, ED46=5=<5 �1 < �4 ?>>4-
7O645F 5>?LLGN 4D56=>EFL �4 (>5 MF>< 7>6>D<FEO < 6 4DG7<E G4E-
FOE); 6 %1 E>54<=5=O 464 <EF>G=<>4: >4<= <7 =<E – 6?44OG=4O ?5F>-
?<EL, 4DG7>= – E65FE><= (65G56>=). �D< MF><, 4=4?<7<DGO <4F5D<4? 
?>4 1387 7., �46D>6 ?>EG<F4?, GF> %1 – >4<= <7 <EF>G=<>>6 �4, 4 
>F=>E<F5?L=> D4EE>474 ?>4 1389 7. ?D<L5? > 6O6>4G, GF> �4 D4=LL5 
< ?5D6<G=55 %1. 

&5FD44L 7 7 >747?46?5=4 «%?<G5=<5 E>D<=E><E ?5F>?<E5= E 
<>E>>6E><<< E6>44<< E 1419 ?> 1506 7.»25 �4F5D<4? MF>= F5FD44< 
>4E45FEO, 7?46=O< >5D47><, ?5F>?<E5= 7DG??O %1 < 4DG7<E ?5F>?<-
E5= >>=F4 XV – ?5D6>= ?>?>6<=O XVI 6. �. $. �46D>6 E45?4? =4-
5?N45=<O, 654GM<5 > 6O6>44<, =4?D<<5D, > F><, GF> D4EE>47 > 
%F>O=<< =4 '7D5 %2 < �L6>6E>>= ?5F>?<E< (44?55 – �L6.) 5>?55 ?5D-
6>=4G4?L=O, G5< %& < �5, GF> %<<5>=>6E>4O ?5F>?<EL (44?55 – 
%<<.), %2 < �>E>D5E5=E>4O ?5F>?<EL (44?55 – �>E>D.) 6>EE>4OF > 
>5M5<G <EF>G=<>G (?. 86–87). -F> – D476<F<5 =45?N45=<= 
�. �. ,4E<4F>64, => < >D<F<>4 57> < �. �. �D<E5?>>64. �4 ?. 2 G<-
F45< > E6O7OE �>E>D., %<<. < �L6.: «�4> 5O?> 5O ?D>EF> 6E5 MF> 6>7-
65EF< > >5M5<G <EF>G=<>G, GF> < 45?4NF �D<E5?>>6 E ,4E<4F>-
6O<!!!» �. $. �46D>6G E<FG4F<O >474?4EL 5>?55 E?>6=>=, >= 45F4?L-
=> ?D>E?54<? 55 =4 ?D>FO65=<< 6E5E F5>EF>6. �. �. �D<E5?>>6 6O-
7O64? =5>>F>D>5 D474D465=<5 �46D>64, 6<4<<> ?>?4746L57>, GF> 

                                                                 
24 -F> >?D545?5=<5 «E6>44 1448 7.» E>6?4445F E F5<, >>F>D>5 4464? 5<G 6?>E?54-

EF6<< /. %. �GDL5, =47O646L<= 57> «�5EF>D>< XV 65>4». 
25 �DE<6 %�5�� $��. $. 269. 7 7 (15). 
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>>5->4><5 6O6>4O �D<E5?>>64 ?>65DE=>EF=O <?< E>>D>?4?<F5?L=O: 
«�D<E5?>>6 =46D4?!» (?. 64); «�4> 5O MF> =5 5O?> ?>4F65D645=<5< 
<OE?< �D<E5?>>64!» (?. 64 >5.). �>E>>?L>G �46D>6 6E5 6D5<O L5? 74 
<4F5D<4?><, F> < 57> E>5EF65==O5 6O6>4O <5=O?<EL: «�=< 6E5, 45=-
EF6<F5?L=>, 6>EE>4OF > >5M5<G <EF>G=<>G» (> %<<., �L6., �<>., %&, 
%�, %2, => =5 �>E>D.) �4>>=5F, 646=> 74<5G4=<5 =4 ?. 92: «�G5=L 
E>D>L< F5>EFO %2, 4 <564G F5<, �. �. �D<E5?>>6 <E 6>6E5 =5 <E-
?>?L7G5F; MF> ?>F><G, GF> >= ?>?L7G5FEO F>?L>> <4F5D<4?4<< ,4E-
<4F>64, 4 D45>FO ,4E<<4F>64> =5 <4GF 44?LL5 (6 <E 7?<46=><> 
F5G<5=<<>) 6OOE=<5=<O> ���…» 

%F4=>6<FEO ?>=OF=O<, GF> �. $. �46D>64 =5 G4>6?5F6>DO?> 
EFD>7>5 E?54>64=<5 �D<E5?>>64 74 ,4E<4F>6O<, <, 6 >F?<G<5 >F =5-
7>, �46D>6 D5L<?EO ?5D5E<>FD5FL < 74=>6> ED46=<FL F5 65 F5>EFO, 
>>F>DO5 ED46=<64? < ,4E<4F>6, => 67OFL 4465 5>?LL5 – F5>EFO 
XVI 6. 

%4< �. $. �46D>6 EG<F4? 646=O<, GF> G =57> ?>?GG<?>EL GEF4-
=>6<FL E6O7L <564G =5E>>?L><<< 646=O<< F5>EF4<< MF>7> 6D5<5=<: 
&<?>7D4DE>>= ?5F>?<ELN (44?55 – &<?.), %<<., �<>>=>6E>>= (44?55 
– �<>.), �5, %&, %2 – E >4=>= EF>D>=O, <564G %<<. – �>E>D. – E 
4DG7>=. ' =57> ?>?GG4?>EL, GF> �>E>D. 6>EE>4<F > F><G 65 <EF>G=<-
>G, GF> < �<>. < %<<., 4 =5 > %&, >4> G ,4E<4F>64. /6=>, GF> �46D>6 
=5 >4>5DO? =5>>F>DO5 ?D<5<O D45>FO ,4E<4F>64: «�4 EFD. 48 G 
,4E<4F>64 O6=4O =4FO6>4 (4?O 4>><474F5?LEF64> EGM5EF6<>64=<O> 
E6>44 1491 7.). (�>>5M5 ?D<5<O ,4E<4F>64 44NF 6>7<>6=>EFL GE-
F4=>6<FL EGM5EF6<>64=<5> ?N5>7> =5EGM5EF6>646L57> E6>44. � 
�>E>65 6 ><>=F5> XV<6.> F>?L>> < 45?4, GF> E>EF46?OFL =>6O5 E6>-
4O: 1472, 1480, 1491, 1494, 1499)» (?. 100 >5.). 

� DO45 E?GG456 �46D>6 EG<F4? F5>EF �<>. ?GGL5 6E57> ?5D5-
44NM<< ?D>F>7D4D. &<4><<> ><5D47><>, OE=>, GF> >= =5 D4745?O? 
?>4>7D<F5?L=>7> >F=>L5=<O > �<>. >4> > ?>74=5= >><?<?OF<<, >>-
F>D>5, ?D4644, >E>55==> E<?L=> ?D>O6<?>EL 6 ?>74=5=L<E D45>F4E, 
=4?D<<5D G /. %. �GDL5 (1990-5 77.). �. $. �46D>6 < 6>>5M5 GG5=O5 
L>>?O �. �. �D5E=O>>64 <=4G5 D4EF5=<64?< >><?<?OF<< XVI 6. 
(<=>7<5 <7 >>F>DOE 5O?< <7GG5=O �. �. �D5E=O>>6O<). 

�. $. �46D>6 ?D54?>?>6<?, GF> 6>?D5>< <=5=<N ,4E<4F>64 
1498 7>4>< >>4=G<645FEO >5M<= <>E>>6E><= <EF>G=<> �>67>D>4-
E>>= ?5F>?<E< �G5D>6E>>7> < $>EF>6E>>= ?5F>?<E<. �4 MF>< < 4DG-
7<E >E=>64=<OE >= 6O45?<? E6>4 1498–99 77. >4> 646=O= MF4? ?5F>-
?<E4=<O MF>7> 6D5<5=<, EG<F4O, >4> <EF>D<>, GF> «745EL <O D4E?G-
F45< >?G5>> ?D>F<6>D5G<= < 6OOE=<< ?>?<F<G<5E>GN> <EF>D<N 
6D5<5=< �64=4 III». �> �46D>6G, E6>4 1498 7. 5O? <>E>>6E><<, => =5 
>D<F<4?L=O< E6>4><, =4?D46?5==O< ?D>F<6 65?<>>= >=O7<=< %>-
DL<, => 6O7>D46<64NM<< �64=4 III. 
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� D>=45 �. $. �46D>6426 (F5>EF =4 >F45?L=OE =5=G<5D>64=-
=OE ?<EF>4E) ED4=<FEO F4>65 >FDO6>> 57> EF4FL< (<?< 7?46O), ?>-
E6OM5==>= 6 >E=>6=>< %1, – 65D>OF=>, G4EFL F>= 65 >=<7< > =>67>-
D>4E><E (< >5M5DGEE><E) ?5F>?<EOE, GF> < F4, > >>F>D>= L?4 D5GL 
4> E<E ?>D. � =45D>E>4E <EF>D<>7D4D<< 6>?D>E4 G?><<=4NFEO =5 
F>?L>> �. �. ,4E<4F>6 < 57> ?>E?54>64F5?<, => < <EE?54>64F5?< 
XIX 6., =4?D<<5D �. �. �5EFG656-$N<<= < �. �. &<E><<D>6. �D><5 
F>7>, >5D4M5=> 6=<<4=<5 =4 EF4FL< �. �. &D>F>>7> – >>??57< 
�. $. �46D>64 ?> D45>F5 6 ����. � =5E>>?L><E E?GG4OE �46D>6 E>-
7?4L4?EO E &D>F><< (?><5FO «65D=>!», «>G5=L E>D>L>», «=4G4?> < 
>>=5F >G5=L E>D>L»), => 6 4DG7<E <<5NFEO ?><5FO <=>7> D>44, =4-
?D<<5D: «�5 65D=>! �44> 5O 6>765EF< > =4G4?G XIII 65>4. %FD. 277 – 
E><=<F5?L=>5 4?O <5=O <5EF>!»27. 

� ?5D6>= G4EF< 74<5F>> G �46D>64 6 >E=>6=>< D5GL <45F > 
%<=. �46D>6 D4EE<4FD<64? 57> >4> ?D>F>7D4D ?D>G<E E?<E>>6: 
�1�?., ?> 57> <=5=<N, E>>?<D>64=4 E F>7> 65 >D<7<=4?4, GF> < 
%<=., => <5EF4<< >=4 ?>?=55, G5< %<=. �4> ?D<<5D ?D<6>4OFEO 7>-
4>6O5 EF4FL< 1169, 1193, 1194, 1196, 1199, 1200, 1211. («�=< ?>?=55, 
=> 7=4G<F, >=< <<5NF ?D>F>7D4D ?D<5?<7<<F5?L=>> MF>7> 65 6D5-
<5=<, >>F>DO= 4>546?O? ?D>F<>7D4D> %<=. (�DO4 ?< E>>D4M4? ?>-
E?54=<=)». 

�EF>G=<>< %<=. ?> �46D>6G: «�>67>D>4E><= %>D<=E><= 
E6>4»,28 F. 5. 6?44OG=O= E6>4 XII 6., < �5F>?<EL �5D<4=4 �>OFO, => 
=5 E4<4 MF4 ?5F>?<EL, 4 55 «?>74=<= <76>4». &D5F<= <EF>G=<> %<=. 
�46D>6 6<45? 6> 6?44<<<DE>>= ?5F>?<E< F<?4 �46D5=FL56E>>=. � 
4DG7>< E?GG45 >= =4?<E4?, GF> FD5FL<< <EF>G=<>>< 5O? �?44<<<D-
E><= �>?<ED>=. �4> <765EF=>, �. �. �D<E5?>>6 F>744 G65 57> >F65D7 
>4> 765=> 6 L4E<4F>6E>>= EE5<5 ?5F>?<E4=<O < 6 MF>< �D<E5?>>64 
?>445D64? �. �. �4E>=>6. 

�> ?>6>4G D4EG5F4 ?5F ?>4 1380 7. �46D>6 =5 5O? E>7?4E5= E 
,4E<4F>6O<. -F> <5EF>, >>F>D>5 4?O ,4E<4F>64 5O?> >E=>64=<5< 
44F<D>6>< �>67>D>4E>>-%>D<=E>>7> E6>44, ?> <=5=<N �46D>64, =5 
O6?O5FEO 44F<DGNM<<: «-F> =5 7=4G<F, GF> E6>4 5O? E>EF46?5= 6 
1448 7. -F> <>7 6EF46<FL >4<= <7 ?>74=5=L<E ?5D5?<EG<>>6 (“4 ?>-
F>< 5G45F 74 11 ?5F”)». 

«�46=5=L<< F5>EF><» �46D>6 =47O64? EF4FLN 1017 7. («� ?5-
F> 6525 /D>E?46 <45 > �5D5EF<N < 74?>65=4 5OEFL %6OF4O %>D<O 

                                                                 
26 %�5�� $��. $. 269. �4. ED. 7 (22). 
27 %<.: &D>F><= �. �. �>7=<>=>65=<5 =>67>D>4E>>= D5E?G5?<>< // ��� 

%%%$.VII E5D<O. �F4-=<5 >5M. =4G>. �., 1932. 7 4. %. 271–291; 7 5. %. 349–374. 
28 $5GL <45F > E6>45 XII 6. �>74=55 =4764=<5 �>67>D>4E>>-%>D<=E><= E6>4 

?D>G=> 74>D5?<?>EL 6 <EF>D<>7D4D<< 74 E6>4>< E5D54<=O XV 6. (�. �. ,4E<4F>6 
=47O64? 57> «%6>4>< 1448 7.»). 
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�O565»). �46D>6 >F<5F<?: «=44> D4E?GF4FL», «<>6=> 4G<4FL, GF> MF> 
GF5=<5 =4G4?4». 

�4?55 <45F DD47<5=F > E?<E>4E. �46D>6 6O45?O? «?5D6<>=4-
G4?L=GN> D544>F<N %1 ?5F<>?<E<>, <E>?NG45F E?<<E>>> &4DE>>7>, 
>>F<>DO=> 6>?NG4? <765EF<O <7 4D<G7<E> E6>4<>6>». �EF4?L=O5 
E?<E>< ?>4D4745?5=O << =4 465 7DG??O (D544>F<<):  

1. ��; 
2. &>?EF>6E><=, �>D>=F>6E><=, �4?L75D>6E><= < 4D. «6> 6F>-

D>= (D544>F<<. – �. �.) 7=4G<<F5?L=>5> G<E?> =>67<>D>4E><E> 
<76<5EF<=> <<55FEO, 6 1-= >?GM5=>, => >?GM5=O < 4DG7<5». 

/7O> ?5D6>= 7DG??O, ?> =45?N45=<O< �46D>64, 5?<7>> > O7O-
>G �4. �46D>6 ?>?474?, GF> D544>F<O �� 5>?55 4D56=OO. «&5>EF E?<-
E>>6 2->= D54<4>F<<> <>65F 5OFL 6OO6?5= <7 ?5D6>=». 

�E=>6=>= E?<E>> ?5D6>= D544>F<<, ?> 57> <=5=<N, 5O? 4>65-
45= 4> 1422 7>44. «-F4 D54<4>F<O> GE6><?4 E6>5 E>45D64=<5 <7 
�>67<>D>4E>>7>> E6>44 1448 7.». �7 MF>= DD47O O6EF6G5F, GF> �46-
D>6, >>744 ?<E4? MF> <5EF>, ?D<7=4? EGM5EF6>64=<5 MF>7> E6>44. �>-
?55 F>7>, >= ?>?474?, GF> «>E=>6<=4O> G4EFL E6>44 1448 7. 5O?4 4>-
6545=4 4> 1422 7.» -F> «?>4F<65D6445F> < >><>=G4=<5> D54<4>F<<> 
��». %6>4 1448 – «>><?<?<D<>64?> =>67<>D>4E><5> <76<5EF<O> E 
<76<5EF<O<<> >5M5DGE<E><<<> 6 G4EF=>EF< <>E>>6E><<<». �>4 
6962 7. >4<= <7 D4EE>47>6 (> �4=<?5 �EFD>6E>><) 6>EE>4<F > 74?44-
=O< DGEE><< <765EF<O<. 

�4 6D5<O XIII–XV EF>?5F<=, ?> =45?N45=<O< �46D>64, F5>EF 
>E=>6O645FEO <E>?NG<F5?L=> =4 E6>45 1448 7. � =4>5>D>F, «74 XI–
XII 6. =4E>4<OFEO> E?54O ?>?L7<>64=<O> 4D<G7<<<> <EF>G=<>4<<»: 
?>4 6685 6<45= DO4 E>5OF<= N6=>DGEE><E < >4=> EG744?LE>>5 (>F-
EGFEF6G5F 6 �4); ?>4 6683 E> «7=4G<<F5?L=O<<> ?>4D<>5=>EFO<<>» 
<7?>65=> G5<5=<5 �=4D5O �>7>?N5E>>7> (6 �4 – 2 EFD>G><). 

�> ?>6>4G <765EF=OE >FEO?>> 6 %1 =4 >4>>=-F> ><56E><= <E-
F>G=<> F<?4 «4 ?<E4=> 6 �<56E>><» �46D>6 >F<5G4?, GF> «MF4 
�<5<E>4O> ?5F>?<EL EE>4=4 >FG4EF< E �46D<5=FL56E>>=>, => >FG4EF< 
< E �?4F<L56E>>=> < 5O?4 4>654<5=4> 4> >>=F4 XII 6.» �> 57> <=5-
=<N, «=<GF> =5 4>>47<O645F>, GF> 6 E>EF465 ?5D6>= D54<4>F<<> 
4>?65= 5OFL �>E><>6E><=> E6>4», F. >. >?GM5=O 4=F<=>67>D>4E><5 
<765EF<O. �D><5 F>7>, «>FEGF<EF6GNF> < =5 =>67<>D>4E><5> 
<5EF<=O5> <765EF<O – <>E>>6E><<5> F5=45=F<<». 

 �> ?>6>4G 674<<>>F=>L5=<O D544>F<= %1 �46D>6, >G56<4=>, 
=5 ?D<=<<4? <=5=<O ,4E<4F>64, EG<F4O 57> <7?<L=5 «E?>6=O<»: 
«�=4G<F, =5?L7O 6O6>4<FL 2 D54<4>F<N> <7 … �� – 74G5< 65 MF4 
E?>6=>EFL! &4> < =47>65< 1 D54<4>F<O> ��, 2 D54<4>F<O> &<>?-
EF>6E>>7> E?<E>4> < 4D<G7<E> – < �E=>6=4O D54<4>F<O>». 

�<65 >= ?D<65? E6>N EF5<<G: 
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                                         �E=. D54. %1 
     
�D<>F>7D4D> 1 D54.                                    �D<>F>7D4D> 2 D54. 
 
      �                                      � 
 
 

�F>DGN D544>F<N %1 �46D>6 ?D54EF46?O? 6 6<45 G5FOD5E 
7DG?? E?<E>>6: 1) %&, %�, %� < 4D.; 2) %&; 3) %2; 4) �>67>D>4E>4O 
?5F>?<EL ?> �>E>D5E5=E>><G �>6><5DGE4?<<E>><G E?<E>G, >?G5?<-
>>64==4O 6 �%$�, F. VI. �F>D4O D544>F<O, ?> �46D>6G, 5O?4 E>744=4 
6 1456–57 77. � >E=>65 55 ?564?4 �E=>6=4O D544>F<O, ?D>4?5==4O 
?>F>< 4> 1522 7.: «�5EL<4 646=>. �D>?GM5= ?> ,4E<4F>6G DO4 
<76<5EF<=> (F5, >>F>DO5 >= EG<F4? =>67>D<>4E><<<> 6EF46<>4<<> 6 
E6>4 1448 7.)». �> <>6=>, ?> �46D>6G, 5O?> 5O ?>EF46<FL 6>?D>E 
«>4> D47 =4>5>D>F», F. 5. ?D54?>?>6<FL, GF> «%1 2->= D54<4>F<<>, 
F. 5. %&, %� < 4D. – 1-4O D54<4>F<O>». �G5=L 646=O<< >474?<EL �46-
D>6G D4EE>645=<O �� E %�. 

� 44?55 6 E6>5= >5OG=>= <4=5D5 �46D>6 ?<E4?: «$5L<F5?L=> 
G4<6?ONEL �D<E5?>>6G < ,4E<4F>6G, EG<F4NM<<, GF> �4 < %1 
?>?L7>64?<EL >5M5DGE<E><<> <<FD<>?>?<GL<<> E6>4><, F5< 5>?55 
�D<E5?>>6G, GF65D64<4NM5<G>, GF> E6>4 1448 7. MF> <<FD>?>?<G<= 
E6>4. �5F MF>7>. �> >4>>7> ?5D<>44 E>D<<=E><=> <?< =>67<>D>4E-
><=> E6>4 (1448 7.) <<>65F> 5<OFL> 6 =4G4?5, <?< 44?55 4> XII – 
?>?L7>64?<EL �<56E><< E6>4><, 4 74F5< >5DO6, < 74F5< <<>65F> 
5<OFL> G65 6 XIV 6., MF> =44> ?D>E?54<FL, >= =4G<=45F ?>?L7>64FL-
EO �>E>>6E><< E6>4><. �F4>, =<>4><E >5M5DGEE<><E> E6>4>6 XIII–
XIV =5 5O?>. -F> < 5EF5EF6<5==>>, 654L MF> ?5D<>4 D5>44?L=<>=> 
D474D>5?5==>EF<». �F4>, 745EL �46D>6 >4> 5G4F> >F>47O645FEO >F 
�?44<<<DE>>7> �>?<ED>=4 =4G4?4 XIV 6.29 
                                                                 

29 �<65 ?><5M5= ??4= <>=>7D4D<<. �>-6<4<<><G, F4> 4>?6=4 5O?4 6O7?O45FL 
>=<74 �46D>64. �7 ??4=4 6<4=>, GF> MF> >=<74 > <>E>>6E><E < >5M5DGEE><E ?5F>?<-
EOE. �>7<>6=>, D45>F4 MF4 4>?6=4 5O?4 EF4FL >F45?L=O< <EE?54>64=<5<, ?D><765-
45==O< ?>E?5 =4?<E4=<O >=<7< > =>67>D>4E><E ?5F>?<EOE. �> 6>7<>6=> F4>65, GF> 
MF< 464 EN65F4 (=>67>D>4E>>5 ?5F>?<E4=<5 < <>E>>6E>>5) 6 F5>EF5 5O?< <7?>65=O 
?4D4??5?L=>, < ?>47>F>6<F5?L=O= <4F5D<4? D>=44 �46D>64 MF> ?>4F65D6445F. 

«�? 1. �4G4?> �>E>>6E>>7> ?5F>?<E4=<O. �?. II. %6>4 �<<FD<O �>=E>>7> – �5-
F>?<E5F �5?<><= $GEE><=. �?. III. %6>4 =4G. >=. �4E<?<O �<<FD<56<G4. �?. IV. &D>-
<F>4O ?5F>?<EL. �?. V. %6>4 =4G. >=. �4E<?LO �4E<?L56<G4 �?. VI. %6>4 <<FD>?>?<-
F4 �>=O. �?. VII. %D>=>7D4D �4E><<O �>7>D5F4. �?. VIII. %6>4 =4G. >=. �64=4 III. 
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�4F5< �. $. �46D>6 E=>64 6>76D4F<?EO > <EF>>4< =>67>D>4E>>-
7> ?5F>?<E4=<O. �= ?>6F>D<? G65 6OE>474==GN 6=4G4?5 <OE?L > 
F><, GF> E6>4 �5D<4=4 �>OFO EGM5EF6>64?, 5O? =4?<E4= 6 1167 7., 
GF> F5>EF E>ED4=<? =5 E6>4 F5D>6< �4>>64, 4 �?44OG=GN ?5F>?<EL – 
E6>4 =4 >E=>65 1) �<56E>>= ?5F>?<E< 4> 1167 7.; 2) �>67>D>4E>>= 
6?44OG=>= ?5F>?<E<. � �<56E>>= ?5F>?<E<, ?> �46D>6G, =4E>4<?EO 
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